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55 | BEE=#L1% JAL| 12,500 63%
56 | Ao E=§I& JAL| 12,500 68%
57| BEE=MBT/A | JAL| 12,500 67%
58 | AEE=F%H% JAL| 12,500 58%
59 [ FEE=FH JAL| 12,500 52%
60 | BEE=1EE JAL| 12,500 56%
61| ZHE=IFE JAL| 12,500 52%
62| BEE=UE& JEX| 12,500 52%
63| HEE=H JAL| 10,000 57%
64 | BEHE=fL JAL| 10,000 54%
65| PEE=S% JAL| 10,000 58%
66| HEE=1EH JAL| 10,000 57%
67| HAEE=RIK JAL| 10,000 66%
68 fE EE = fﬁE:Z'K svsex] 10,000 63%
69 £ EE = E’EL% .% swueex| 10,000 66%
0| 2EE=33% JAL| 12,500 65%
71| EEI=FF% JAL| 12,500 71%
72 | fBH=1E4 JAL| 12,500 70%
73| BRI =1LE& JAL| 12,500 69%
74 | BR=54%0 JAL| 10,000 54%
75 | f@R=#Al JAL| 10,000 48%
76 | B ==k JAL[ 10,000 45%
77 | ALPR =2 R JAL| 10,000 49%
78 | ALIE=F JAL| 10,000 49%
79 | #LIR==IR JAL| 10,000 49%
80 [ #LiE=%MA JAL| 10,000 56%
81| #LIE=TE% JAL| 10,000 57%
82 | #LIE=1L% JAL| 10,000 62%
83 | #LIE=qL& wsex| 10,000 62%
84 | FLIE=1S MK JAL[ 12,500 62%
85 | #LIE=ILE JAL| 12,500 70%
86| BEIRE=EZXKXKE |JAL| 10,000 53%
87| BERE=fEZE JAL| 10,000 59%

BEtdewAILEIE]
X4 9 IEEH
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1 | BRER=XKR JAL| 10,000 51%
2 | HE=12F JAL| 12,500 63%
3 | EHE=%Li% JAL| 12,500 59%
4 | FR=3R%R JAL| 12500 67%
5 | Kir=1ah JAL| 10,000 50%
6 | KBr=#Lt% JAL| 12500 67%
7 | K== JAL| 12,500 60%
8 | tEkE=#L1% JAL| 12,500 73%
9 | tER=3R%H JAL| 10,000 60%
10| HERE=2m5l JAL| 12,500 67%
11| HE=78JI JAL| 12500 65%
12 | RE=4I% JAL| 12,500 65%
13| HER=MEHE [JAL 12,500 64%
14| RR=KEE JAL[ 12500 57%
15| HRER=9% JAL| 12,500 55%
16| RRE==R JAL| 12500 54%
17| BERER=fH JAL| 10,000 56%
18| EE=IU JAL| 10,000 40%
19 | RFE=/ JAL| 10,000 50%
20 | RER=FafEE JAL| 10,000 62%
21 | BRE =L JAL| 10,000 64%
22| RRER=IL8 JAL| 10,000 65%
23 | BER=IUOFF JAL| 10,000 68%
24| FE=H=E JAL| 10,000 65%
25| RE=fA5 JAL| 10,000 63%
26| FRE=g JAL| 10,000 63%
27 | BE=fL JAL| 10,000 66%
28| EE=5% JAL| 10,000 65%
29 | HER=dt M JAL| 12,500 63%
30| HE=K% JAL| 12500 62%
3| HRER=FKIH JAL| 12,500 65%
32| FE=FEX JAL| 12,500 63%
B3| HRER=EIF JAL| 12,500 63%
M| FE=FERE JAL| 12,500 65%
B | FE=8FZXE JAL| 12,500 71%
36| HE=%HE JAL[ 10,000 40%
37| RER=2Z &l JAL| 12500 72%
38 | KBr=nReJll JAL| 12,500 70%
39 | KBr =%l JAL| 12500 71%
40 | Kir=&mbala | JAL| 12,500 70%
41 | KiR=gKfE JAL| 12500 65%
2| XKIR=F#% JAL| 12,500 63%
43 | Kfr==iR JAL| 12,500 64%
44 | KIrR=%#H JAL| 12,500 59%
45| Kr=1% JAL| 12500 61%
46 | Kr=ILH JAL| 12,500 57%
47| KBr=1{l& JEX| 12,500 56%
48 | Kr=1E5 JAL| 12,500 55%
49 | KifR=%r5 JAL| 10,000 62%
50 | KirR=FKIF JAL[ 10,000 58%
51 | KR=HEX JEX| 10,000 54%
52 | KfR=EIH JAL[ 10,000 54%
53 kB}i = EEIJEL, % oavex| 1 0,000 59%
54 xw = E;%i =) savoex] 1 &500 6&
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1| BE=% JTA 12,500 67%
2 | KBR=3B% JTA 12,500 60%
3| EF=FR%FH JTA 10,000 60%
4 | KiR=&Ed% JTA - -
5| RE=AXE JTA 12,500 73%
6 | RIR=Hh1iE JTA 12,500 77%
7| BR=EH JTA 12,500 75%
8 | KBr=%h1iE JTA 12,500 72%
9| EE=H JTA 12,500 71%
10| /MRA=FBF JTA 12,500 67%
11| Bl =% JTA 12,500 60%
12| S5=H JTA 10,000 65%
13| #LU=FBH JTA 10,000 65%
14| LM =FRER JTA 10,000 60%
15| WHA=FH1IE JTA 10,000 53%
16| PH=ES JTA/RAC 7,000 57%
17| ARIE=FH JTA/RAC 7,000 36%
18| WH=AKRE JTA/RAC 7,000 35%
19| RE=53E JTA/RAC 7,000 35%
20| MBZ=5m RAC - -
21| PHFE=.E RAC - -
22 | MBF =R RAC - -
23| PHE=ILXE RAC - -
24| AAE=JXH RAC - -
25| BH=FEH RAC - -
26 | AIE=KEM RAC - -
27| EH=%REM RAC - -
28 | MEHZ=5IE RAC 12,500 57%
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1| KIR=%&5 JAC| 12,500 55%
2| KiR=%m5 JAC| 10,000 62%
3| KBR=1EMED>HLE| JAC| 10,000 53%
4] Kfr=17/b{EE |[JAC| 10,000 12%
5| KBr=[Z JAC| 10,000 51%
6| KIR=HZE JAC| 10,000 43%
7| RBR=#ALU JAC| 10,000 36%
8| Kix=%aMm JAC| 10,000 50%
9| Kr=X%» JAC| 10,000 44%
10| K== JAC| 10,000 54%
11| XKER=ERE JAC|[ 10,000 59%
12| KR=%F5 JAC| 10,000 67%
13| fRE=1EMEDLE|JAC| 12,500 61%
14| faffl=HE JAC| 10,000 57%
15| fRff=1E5 JAC| 10,000 56%
16| f&fE =14 JAC| 10,000 48%
17] ER=FERS JAC| 10,000 42%
18| HE=[RK JAC| 10,000 11%
19 LER=FIF JAC| 10,000 54%
20| ERE=ML JAC| 10,000 63%
21| BRE=ILE# JAC| 10,000 54%
22| BRRE=8# JAC| 10,000 62%
23| BIRE=#¥L JAC| 10,000 58%
24| ERE=EFE JAC| 10,000 13%
25| BRE=EAE JAC| 10,000 22%
26| BEIRE=®XXKXE [JAC| 10,000 50%
21| ERE=ERE JAC|[ 10,000 55%
28| BIRE=4KE& [JAC| 10,000 63%
29| BRE=E#f JAC| 10,000 65%
0| BEAXE=ERE |JAC| — —_—
31| EEXEXKE=f25 [JAC| 10,000 18%
32| BEXE=HXBEE[JAC| 10,000 35%
33| HKEE =5 JAC| — _—
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1 | FLIE=3% HAC| 10,000 45%
2 | ALIR=1%E HAC| 10,000 35%
3 | EHEE=1BJI| HAC| 10,000 42%
4 | 1BJI=%IE& HAC| 10,000 35%
5 | BREE=#IE& HAC| 10,000 58%
6 | HNEE=BL/R HAC| 10,000 31%

HAC



